ITI Refrigeration and Air Conditioning Technician 2nd Year Module 14
Car AC Mobile AC (Bus, Train)

(1). Which operating condition opens the HPC control switch in car AC? | Ww

H Hpc = fag forg siTRfdT fRufa &) e g2

(A) If evaporator pressure exceeds safe limit | WWW@W
T Y 31 g wrar g

(B) If there is continuous rain outside | 3R dlgX <IIIdIR TR ﬁ?ﬁ%

(C) If condenser pressure exceeds safe limit | ZI'% HSTI adld W?ﬂrﬂﬁ
3fIH

(D) If there is continuous air velocity | tri%ﬁwavgav%

Correct Answer : C

(2). Which electronic component of mobile A/C is amplified and used to control or

switch the A/C clutch on or off? | WQ@%WWW@
Tafiid foar STTaT 8 SR U/ & I I1eL a1 66 @R a1 fafd v & forg
SUTNT {1 ST /2

(A) Push switch | EFZT%?[
(B) Thermocouple | yAIPUd
(C) Thermostat | YAReE

(D) Amplifier | QTCI?ﬂ'W

Correct Answer : D

(3). Where Cycling Clutch Orifice Tube(CCOT) system utilize a pressure switch
located in the low side of the A/C system? | WWW &Waﬁ (CCOT)
Rew A/c Ren & fRgd e & fud ues ga1a Raa &1 IuaiT gl il 87



(A) Evaporator and compressor | SITIRCR 3R HUWR
(B) Condenser and compressor | S 3R HUWR
(C) Condenser and Expansion device | HeTIR @Twm

(D) Expansion device and Evaporator | Qa'\‘:l'a'-ﬂ:[ %dl‘éi—l 3R ‘QSOIILJ\I\QCQ

Correct Answer : A

(4). What is the reason for having 2.5 Kg/cm? on low and high side of car AC
system? | R T ReH & 7 3R 3= U& TR 2.5 Kg/cm? B &1 T HRUT g2

(A) Defective thermostat | Wm

(B) Excessive oil in evaporator | IR H 3D I
(C) Too close differential in LPC | LPC fragam‘ia 3R
(D) Defective compressor valve | WWW

Correct Answer : D

(5). What is the cause in an automobile air conditioner, shown High side pressure

- Low, Low side pressure - High? | &ﬁﬁmwa@wﬁsﬁ%ﬁm-
7, T A15S URR - 3= faaTe S &1 1 HRUT g2

(A) Condenser defect | Hem fshae

(B) Blockage - Low Side | W-Fﬁm
(C) Blockage - High Side | o—d%-srs‘?ns—s’
(D) Compressor failure | HHITR iR

Correct Answer : B



(6). Which is circulated in VRV system for cooling cycle? | QﬂWW%mVRV
JOTTeR H &I I giRaterd g2

(A) Water | O

(B) Cooled air | $oI gl

(C) Cooled brine | HTS ST
(D) Refrigerant | XIBISIN=

Correct Answer : D

(7). Which one indicating pulley bearing in figure? | ﬁaﬁg?ﬁétrﬁﬂﬁmﬁ
T DI 1 U 82

(A) X
(B) Y
(C) z
(D) W

Correct Answer : B

(8). What is the comfortable range of relative humidity(RH) for human beings? |

IS o forg Ardef sear (Rafed girsidl) & siRmers S &1 82



(A) 30+5%
(B) 40+5%
(C) 50+5%
(D) 60+ 5%

Correct Answer : C

(9). How many water drain lines are provided for each evaporator in a bus AC? |

TS 99 T H TS a0l & ot foramit Uit 1 91 @18+ UaH &t il o7
(A) One | P

(B) Two | &

(C) Three | aF

(D) Four | dR

Correct Answer : B

(10). Which controls the speed of blower fan motor to vary air cooling or heating

in car AC? | HR T H TIR HfeitT a1 ST & 3ei A & fot swilsR T Hier
o Tfa oY FafAd HRar g?

(A) Selector switch and resistors | Wf%ﬁ GﬁTUﬁIﬁW

(B) Thermostat and return-air sensor | ﬂﬁ? aﬁ?ﬁzﬁ-wﬁw

(C) Ambient and cabinet temperature | gRawr Gﬁqa‘)m'}ld dIUHI-

(D) Increase or decrease refrigerant flow | WWﬁg@WW

Correct Answer : A

(11). Which set of components are used in FCU? | FCU H {6 g gcdh &1 U
o SITeTT 82



(A) Air filter, blower, condenser | WW, GG\I&R, BT
(B) Compressor, fan, condenser | W RS, 99
(C) Air filter, cooling coil, blower motor | WWWWW e

(D) Cooling coil, condenser, fan motor | qgfa'u Ob\IJ‘éQ“I, O'bgi-li, 0T Ale’

Correct Answer : C

(12). What is the cause of bubbles in liquid line at sight glass in car AC system? |

HR T Ren § =P Hia R R A8 H ogd &1 SR 7187
(A) No refrigerant charge | ﬁé%@mﬁzaﬁﬂﬁ

(B) Shortage of refrigerant | IThoRe B HHT

(C) Over charge of refrigerant | 3R el Afbolve

(D) Correct charge of refrigerant | WWG@W

Correct Answer : B




(13). What is the name of device used for gas charging in car AC system? | IR AC

TOTTER H T 2ol o Tl TRIeRT SUHRUT &1 T &1 §2

(A) Schrader valve connectors | Th e dled Haey

(B) Non-return valve connectors | TR ot Ted Haed
(C) CFC-12 service port assembly | CFC-12 gy aTed rec!
(D) HFC - 134a service port couplings | HFC - 134 qqﬁﬁuﬁéw

Correct Answer : D

(14). Which type of filter drier is used with HFC 134a car AC? | HFC 134 a WQ?F[

& 1Y ford TpR & fheex f3aR &1 SuanT fasan ST 82

(A) XH-1

(B) XH-3
(C) XH-5
(D) XH-7

Correct Answer : D



(15). Why the miscibility of refrigerant and oil is preferred in car AC? | W?Qﬁ

T XfhoRe 3R Id $1 Tdd Ugd il U¥G Bi Sl 52

(A) Lubricate the clutch assembly | dcid &@Wﬁﬁﬁ%ﬁ

(B) Lubricate the heat exchangers | @?Wﬁﬁ@%ﬁ

(C) Circulate oil back to compressor | HUTR P! UG dd RETeId B
(D) Lubricate the moving parts of TEV | TEV & Tdd lﬂ"ﬁﬁﬁ@%ﬁ

Correct Answer : C

(16). Which electronic component senses the temperature in indoor unit of VRV
system? | VRV HUTTGH 1 TSR 3H18 H I U SATCI-d U P dTqH &1

Y[ BT 82

(A) Resistor | XfRCX
(B) Thyristor | YRARER
(C) Transistor | ISR
(D) Thermistor | YHRER

Correct Answer : D

(17). What is the effect of ‘sludge’ in car AC? | HR ACH ’ﬁﬂg' T HTYHId %?
(A) Chokes the orifice of TEV | TEV I eﬁﬁiﬁmwm
(B) Blocks the orifice of AEV | AEV CARET WW%

(C) Closes the orifice of TEEV | TEEV Pl Ir‘2\99‘< Ca SEARG| %

(D) Closes the orifice of capillary | BB B I?%‘( G| d¢ PR adl %

Correct Answer : A



(18). What is the reason for water dripping inside the AC bus? | Q@[W% 3

OTHI TS BT T BRI G2

(A) Drain panis leak proof | @%WW%

(B) Leakage of evaporator coil | WWWW

(C) Poor insulation at the bottom of drain pan | 39 U- & ad UR &R SqaI<

(D) Worn out shock absorbers on the bus wheels | W%qﬁﬁwaﬁ%
TssiieR &l 18R AT &

Correct Answer : C

(19). What is the ideal distance required in between the compressor pulley and
electric clutch to prevent Electric clutch plate slipping in automobile air

conditioning system? | %ﬁwwﬁmﬁnﬁmﬁsﬁ%w@z
! e I Adh+ & oI HUWR Yeft 3R 3ol aad & s aad ez
FUERIGE

(A) 1.7to 1.9mm

(B) 0.7to 0.9mm
(C) 0.3to 0.5mm
(D) 1tol.5mm

Correct Answer : C

(20). What are the three pressure actuated electrical control switches connected
in series in an automobile air-conditioner? | 31\I'C\IJ-I\I®II$('1 Ugr HS IR f[ %@I(’H

A JS i IR Tadlacs safdedd dheld fad d | ?
(A) LPC, HPC and Blower-switch | LPC, HPC 3R saT3R-Rag




(B) Thermostat, Electromagnetic clutch, on-off control | ﬂﬁ? ﬁlﬁ'{lﬂw

(C) Thermostat, Thermostatic expansion valve, Blower-switch | ﬂﬁ?

YR fadR dTed, AI3R-Rag

(D) Thermostat, Low-pressure control and high pressure control | Qﬂﬁ_@ DH

CEICARLE IR = A CARRELY

Correct Answer : D

(21). What is the name of electrical component shown in figure used for
Automobile A/C electronic circuit? | 31\I’C\IJ-I\I®II$Q'1 A/C 5@10};\7{'\1@> gfdhe %]%’I'Q
Tged o # faamu T fagyd dumcy &l 91H Fa1 82

(A) Heatsink | @’C’W

(B) Integrated Circuit | ﬁﬁ%@'ﬂ%

(C) Electronic pressure controller | s@aﬁ%ﬁmﬁu%
(D) Electronic capacitor | WWW

Correct Answer : A

(22). What is the function of magnetic clutch in an automobile air conditioner? |
TSR TR Hel¥R H a1 aerd &1 R B g2




(A) Check Rpm of engine shaft | $oI] MU & &m@ﬁmﬁ
(B) Check Rpm of compressor shaft | HUWR MU &b mﬁﬁlﬁﬁ

(C) Start and stop the evaporator blower | ST BT HIA T Bl RIES 3R dG

G

(D) Start and stop the compressor electro magnetically | Wg@ﬁﬁjﬁ
DI TG I L& HIAT 3R AT

Correct Answer : D

(23). What rating fuse will be used to check magnetic electric clutch of automobile

A/C through battery? | Scd s AreEH I &W@WA/C$WW
eTd i SId b Tl fordy I WRpel b1 SUANT fod STa?

(A) 10A

(B) 7.5A
(C) 4.5A
(D) 5.5A

Correct Answer : B

(24). What is low side pressure range in HFC134a car AC at an ambient range of

32°C to 35°C? | 32°C T 35°C 1 URARI TIHT UR HFC134a PR AC H T IS8 URR
YT T 8?

(A) 1Kg/cm? -3 Kg/cm?
(B) 2 Kg/cm? -4 Kg/cm?
(C) 3 Kg/cm?-5Kg/cm?
(D) 4 Kg/cm? -6 Kg/cm?

Correct Answer : A



(25). Which one indicates thermostat in wiring circuit? | IR gfdhe A yAlee
&1 DI SR DHRAT 82

e
T i
C § [
| v\?
% -
X
z =
(A) W
(B) X
(C) Y
(D) z

Correct Answer : A

(26). What is the name of electrical component shown in figure use for

Automobile A/C? | SHTCTHIaTSS T/ & fore ot 7 fewame 7u fagyga druimey &1



(A) Thermocouple | YHIGUA
(B) Thermistor | UfH@R

(C) Relay | @t

(D) Amplifier | TUATHTIR

Correct Answer : D

(27). Which compressor’s compression cycle shown in figure? | A A g HUR

(A) Wobble plate | SITHI Wi
(B) Rotary type | e UBR

(C) Scroll type | Th1d UhR

(D) Screw type | ¥p UPRR

Correct Answer : C



(28). Why both the gauges read abnormal high pressures while testing the car AC

performance? | W@%WW@WWW%% SHMHTT 3=
Tqd I UGd 87

(A) Poor pumping | Wtﬁﬁﬂ

(B) Oxygen in system | Req H affadiod

(C) Nitrogen in system | ﬁl@ﬁ:ﬁa\?ﬁ

(D) Excessive refrigerant charge | AAfYPH YBIoRE TSl

Correct Answer : D

(29). What is the solution of thermostatic capillary of the valve is defective? |

dTed & YHReTeS BT BT JHTYM 1 Sguf 32

(A) Repair the valve | dTcd 1 AW BRI
(B) Flush out valve with OFDN | OFDN & 1Y UL T3¢ dled

(C) Adjust the valve | dlied UssIRc ]
(D) Replace the valve | dled dqcfdl



Correct Answer : D

(30). Which one point in figure indicate coil? | ICEE:] GI’?I"I B3l HT‘{;C 8bT$Q‘I G|

(A) Z

(B) Y
(C) W
(D) X

Correct Answer : B

(31). Which component checking going on in Mobile air conditioner is shown in
figure? | HIST3d TR HaIRMR H B T e B Sl Id a1 § I8 [T




P WHEN DE-ENERGIZED

SEEs ﬁ} WHEN ENERGIZED
A AMATURE PRESSURE PLATE

(A) Magnetic clutch | Mifesd oo
(B) Compressor | U
(C) Front plate | The Wi

(D) Pulley | ﬂﬁﬁ

Correct Answer : A

(32). What will be effect if magnetic coil of Automobile A/C not energized? | gfe

SIS A/C BT JID 1T Had Alehd = gl al o1 UHTd GSTT?
(A) Compressor does not work | HUR B -_-Iff hdl

(B) Belt will slip | S fthad ST
(C) Pulley not rotate | Qﬁﬂ:@f‘aﬁ?ﬁ%

(D) Temperature of cabinet decrease | HS-Ic BT dTTH HH Bl Wl &

Correct Answer : A



(33). What is the differential of low pressure cut out control switch? If LPC cuts
out at 2.2Kg/cm? and LPC cut in at 2.4Kg/cm? | Tl URR e 13T dheld Rad ol
TR AT 8? TS LPC 2.2Kg / cm2 TR HT T3¢ 3R TAURIT 2.4 Kg / cm2 TR BICT
T

(A) 0.8Kg/cm?| 0.8 Kg/cm?2

(B) 0.4Kg/cm?| 0.4 Kg/cm2
(C) 0.2Kg/cm?] 0.2 Kg/cm2
(D) 0.1Kg/cm?]| 0.1 Kg/cm2

Correct Answer : C

(34). What is the expansion of PWM used in VRV system? | VRV JUTTcl H SUART

5 S a1 PWM BT FARAR AT 82

(A) Prime Mover wide | YIgH HdR dIgsS

(B) Pass wing Valve | Uy fdm area

(C) Phase wire Valve | L\b\rl didx died

(D) Pulse width modulation | USH TSTs ATSARM

Correct Answer : D

(35). Which purpose of AC system is available by VRV system? | VRV Rca o

fore Yo o foe Ac Riked Suds 82
(A) Package AC | IR

(B) Central plant AC | WWAC

(C) Multizone split ACs | Hee! RUTC ACs
(D) Indirect ACs | SUIE& ACs

Correct Answer : C



(36). What is the reason for intermittent cooling cycle in car AC? | Wﬁ?ﬁf{

SHTeRIRI® Zfder b BT BRI T 52

(A) Moisture in the system | e |/ 94

(B) Fully evacuated system | @W@mﬁﬁmﬂ

(C) Excess of lubricant in receiver | Wﬁﬁlﬁﬁgﬁ 3fdHdr
(D) Non condensables in the system | ﬁl@ﬁﬁ?%

Correct Answer : A

(37). What is the temperature of air at the supply grille in car AC system at an

ambient 35°C? | 35°C & URAY A &R Ac e & Iwrs e UR 891 &1 diudH
fPaTelarg?

(A) 10.2°C

(B) 11.3°C
(C) 12.4°C
(D) 13.5°C

Correct Answer : C

(38). which parts of automobile A/C coupled directly to the compressor shaft to
transfer the rotational torque from the pulley to the compressor? | Q?ﬁﬁm

% AT TP DI TTYHR B & ol STTHIERT A/C H HIF I TR HUW
M O A JS §UB?

(A) Pulley | Gail

(B) Coil | Bigd

(C) Armature | TR




(D) Rotor | e

Correct Answer : C

(39). What is the name of part marked as ‘x” in receiver-drier used in automobile
air-conditioner? | 3TCIHIETEd TR Ha IR U Ugad RAlaR-feR & x ‘& &u d
fafgd UM BT AT 82

(A) Desiccant | fsfde

(B) Filter pads | Wﬁ@:

(C) Pick-up tube | m&rq‘cqa'

(D) Liquid refrigerant | A IpIoRE

Correct Answer : A

(40). What is being tested between the compressor drive pulley and the function
plate in a car air-conditioner? | HR TR HalAR H HUIR SIED) Qfﬂ 3R =M




Wi & e o1 uiefur fan o 38T 87

(A) Clutch clearance using a blade | W@—S’WWWWW
(B) Clutch clearance using a knife | dTd% 1 SYIRT HRch FTd FA AT

(C) Clutch clearance using a feeler gauge | WWWWWWW
FAIRY

(D) Clutch clearance using a screw driver | @@WWWWW
ENIER

Correct Answer : C

(41). Which compressor uses a unique design with two scrolls, one fixed and one

is movable? | I T HUIR &l Thid %WQIW WWWWW
g, T RR 3R T Ta

(A) Rotary type | AT UBPR
(B) Wobble plate | SITHITG @i
(C) Screw type | ¥p UPRR




(D) Scroll type | ThId UBHR

Correct Answer : D

(42). Which component of Automobile air conditioner controls the refrigerant
flow by using a system of opposing pressures? | 31\I'C\IJ-I\I®II$('1 Uy H IR Bl
P I UMY (AUl GaTal &1 YU BT ITANT dich HoRe YdTg Bl
BRIECKAGIES

(A) TEV

(B) TXV
(C) Capillary | HIURt
(D) Evaporator | ‘%Tﬂuﬁa

Correct Answer : B

(43). Which type of short cycling is avoided by the design of blower housing in car

AC? | BR TH H sAI3R B3R & fouig ¥ fod UpR &1 B! Osidd I
T =T ST 82

(A) oil | d&

(B) Air | dIg
(C) Moisture | CE|

(D) Lubricant | q&ﬂ%&m

Correct Answer : B

(44). What are the controls connected in series with the magnetic clutch of

compressor in car AC? | WﬁﬁW%WW%W%{ mﬁﬁé
ERENESIE



(A) Thermostat, LPC, HPC | YHIXE, LPC, HPC
(B) LPC, Blower Fan Motor | LPC, SI3R T Hiex
(C) HPC, Condenser Fan Motor | HPC, HSIR T Al

(D) Thermostat, Condenser Fan Motor | ﬂﬁ_@ HSTIR ?b"l Hiex

Correct Answer : A

(45). What is tested by 12V DC battery on compressor used in automobile air
conditioner? | 3fCIIETST TR HS IR H Uad HUTR W 12V ST 9l gRT
T Uteur fhar Srar g2

BATTERY

(A) Working of compressor | HUIR BT PR

(B) Working of magnetic clutch | ﬂ@lcbﬁlq FTT BT BT BT
(C) Testing of mounting clearance | aﬁﬁw@wuﬁw
(D) Testing of compressor mounting | WWWW&W

Correct Answer : B



(46). What is the name of component? | Ych b HH ?RIT%?

72

eSiralE

A

o,
V7 /AN

(A) Schrader valve | TH83 dlcd
(B) Suction service valve | TR IfdY dTed

(C) Receiver shut of valve | fdtar e 3ifw area
(D) Discharge service valve | fSTmSt 9fdy aied

Correct Answer : A

(47). What is the minimum cross sectional area of the ducts used with bus AC? |

I T & 1Y TN fohT ST aTal Sa< &1 -gAdH iy Yo & 71 ]2

(A) 400 cm?

(B) 500 cm?
(C) 600 cm?
(D) 700 cm?

Correct Answer : C



(48). What is the name of component marked X as in recycling machine? |

JSrarsfae aia & U H fRIfgd x geh dram | e?

o

(=R ARt Tol Ry H
R -R T 1)

. . — . &

el el alalal s

1
o
i

(A) Pressure relief valve | IR f¥efis area
(B) Schrader valve | TheY dled

(C) Qil return valve | %WW

(D) Piercing valve | o area

Correct Answer : C

(49). Which size service port is used in automobile air conditioners for HFC-134a

refrigerant? | HFC-134aW%W&T€IH\I®II$Q’1 UYx HSIRRI A [y
THR & Al IS B JUART ford I 82

(A) %" -13 ACME

(B) %" -16 ACME
(C) 3/8"-15ACME
(D) 5/16 " - 14 ACME

Correct Answer : B



(50). What is the name of the components used in automobile air conditioner,

shown in figure? | ﬁﬁﬁﬁ_@mw &ﬁaﬁaﬁawa@wﬁwmaﬁ

Te ST BT H 1 87

LOW PRESSURE YAPOUR

(A) Condenser | HeTIR

(B) Condenser fins | HeTR b
(C) Evaporator | W

(D) Capillary device | W%ﬂﬁﬂ

Correct Answer : C



